4 3 - 2 1
TDET
FRAND o SHEET! REVISIONS
CLOPAY | 904, 904U, AX, AXU 1 OF 4
TDERL  lCanL. Caall THIS PRODUCT COMPLIES WITH THE 2018 IBC/IRC. REV. NO.| ZONE: | DATE: [ ECN NO.|[APPVD: DESCRIPTION
4 00 | ALL 10/22 JDW INITIAL RELEASE
CENTER STILES FASTENED TO RAILS
WITH FULL LENGTH 1/4" DIA. THREADED
/ STEEL RODS AND FLANGE NUTS.
3" x 2" x 1/4" ALUMINUM ANGLE ON
[ | TOP SECTION AND BOTTOM OF BOTTOM
é / SECTION ATTACHED WITH (1)
[L‘ 1/4"x3/4" SELF-TAPPING SCREW PER
STILE LOCATION AND AT EACH ENr.
5 o _j E_ < SECTION 1 — 1
o -g ' A'I?US;ABLE TOP ROLIE.EE BRACKET
OF 12 GA. GALV. ST -
S = < FASTENED WITH (4) #14 x 5/8"
. SHT MTL SCREWS.
T
50
= L:E' NTER HIN
8 ATTACHED TO INTERM. BOTTOM RAIL WITH
0 x (2) #14x5/8" SMS AND TO FIN ON
ns INTERM. TOP RAIL WITH (2) 1/4—20x1"
e N\ el HEX HEAD MACHINE SCREWS AND NUTS. LAMINATED GLASS (SEE "GLAZING
% . \ \. \ \ \ \ N N\ \g SECTION 2 > DETAL" ON PAGE 2 FOR DETAILS)
= N\ N\ \ | —
E < . \\! s 4 \\\ \\ \\ \\ \ -
e %ﬁ% POINT SHORT—STEM NYLON TIRE
LOCKING. 10 BALL ROLLERS.
AR RN \
N N
» ‘I s i N 14 GA. ROLLER HINGES ATTACHED
= WITH (4) #14x5/8" SMS ALONG
2 CENTER OF EACH HINGE AND (4)
/ _l -1 1/4"x3/4" SELF TAPPING SCREWS
=, : 2.1 i 3"x2"x1/4" L—ANGLE
3'%2'x1/4* — e ML sl ToRE o REINFORCEMENT: REINFORCEMENT, (1) ATTACHED TO
MAXIMUM OPENING SIZE 160 3"x2"x1/4" L—ANGLE EACH INTREGAL TOP RAIL FIN, WITH
ALUMINUM (2) 1/4" HEX BOLTS AND FLANGE

L-ANGLE. TOP 0OF
EACH SECTION,
PLUS ONE EXTRA
AT BOTTOM OF
DOOR.

AT 22 30 ."'
* )
%

ARK WESTERFIELD

91513 Y

DESIGN ENGINEER:
MARK WESTERFIELD, P.E.

MAX. DLO: 42—-1/4" X 18-1/8"

END STILES FASTENED
TO RAILS WITH FULL
LENGTH 1/4" STEEL
RODS AND FLANGE

NUTS.

INTERGAL FIN ON
INTER. TOP RAILS
NOTCH CUT AT
END STILES.

7/16" PUSH—NUT,
ONE PER ROLLER.

SEE PAGE 2 FOR DIFFERENT
JAMB CONFIGURATIDONS,

FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513

BRACKET FASTENED TO WOOD

JAMB WITH ONE 5/16"x1-5/8"
WOOD LAG SCREW PER BRACKET.

6061 ALUMINUM

1/4"x3/4" SELF
TAPPING SCREWS

SECTIONS PER DOOR HEIGHT

X UP TO 60" 3

1" OVERLAP BOTH SIDES FROM 6'1" T0 B'0” 4

SECTION 3—3 FROM 8'1" TO 10'0" 5

FROM 10'1" TO 12'0" 6

FROM 12'1" TO 14°0" 7

FROM 14'1" TO 16'0" 8

- FROM 16'1" TO 18°0" 9

\ FROM 18'1" TO 20°0" 10
12 GA. GALV. STEEL TRACK

14 GAUGE DOUBLE END

NUTS AT EACH INTERMEDIATE
HINGE LOCATION, AND (2) 3/8"
BOLTS AND NUTS, (1) AT EACH
END OF THE L—ANGLE.

BOTTOM ROLLER BRACKET OF 11 GA.
GALV. STEEL, FASTENED WITH (4)
#14 x 5/8" SHEET METAL SCREWS.

BOTTOM SECTION USES A
TEMPERED ALUMINUM EXTRUSION
WITH INTEGRAL RETAINER FOR FOR
INSTALLATION OF FLEXIBLE VINYL
ASTRAGAL. SEE PAGE 4.

\ FLEXIBLE VINYL ASTRAGAL.

&

ROLLER HINGE FASTENERS DESIGN LOADS: +46.0, —52.0 PSF
" a‘lEAfT);SL/SS CRSI?\AEIS-:T = l!lnpay' EESB%ED%E: égggfzggrg CLOPAY w\llr:;l_én RATING
o o0, CORPORATION  Fax No. 513-770-4853
<« §—9—4 > 1/4"x3/4" SELF [DESCRIPTION: _ M/N 904 16' WIDE +46/-52 PSF
°0 A QY™ TAPPING SCREWS [DRawN BY: Jow DATE: 10/10/22 SCALE: DWG.
0L\ #14x5/8" SHEET |CHECKED BY: JOW | DATE: 10/10/22|SHEET 1 OF 4 |SIZE
METAL SCREWS DWG. NO.: 105609 VERSION: DI

4

Z N

2



4 3 2 1
BRAND MODEL )

SHEET: REVISIONS
CLOPAY | 904, 904U, AX, AXU 2 OF 4 [REv. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
IDEAL C4AL, C4ALU =T e i - - SEE PAGE 1 FOR REVISION DETAILS
HORIZONTAL (TOP) JAMB JAMB TO SUPPORTING STRUCTURE ATTACHMENT
] (NO LOAD FROM DOOR) [ NOTES:
T 'Y 1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE TRACK AND THEN FROM THE TRACK TO
. H . THE 2x6 VERTICAL SYP (GRADE #2 OR BETTER) JAMBS. NO LOAD FROM THE DOOR IS
INTERMEDIATE TOP RAIL \\

TRANSFERRED TO THE HORIZONTAL (TOP) JAMB.
WITH INTREGAL FIN 2. EACH VERTICAL JAMB SEES A MAXIMUM DESIGN LOAD OF +368 LB. PER LINEAR FOOT OF JAMB.
2"x2"x1/8” ALUMINUM 3. ALL JAMB FASTENERS MAY BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A
L-ANGLE (SEE PAGE 1 FLUSH MOUNTING SURFACE.
FOR ATTACHMENT DETAILS) FASTENER 4. A 1/3 STRESS INCREASE FOR WIND LOAD WAS NOT USED IN THE CALCULATION OF ALLOWABLE
/ TYPE LOADS FOR ANCHORS AND FASTENERS FOR STEEL, CONCRETE AND MASONRY.

1/4" THREADED ROD THUR_STILES —
AND 1/4" FLANGE NUT AT RAILS

SEAL BOND 100 ADHESIVE =
(4) SIDES AROUND PERIMETER

~~—— NOMINAL 5/16" LAMINATED e PREPARATION OF JAMBS BY

" GLASS. TWO LAYERS DSB

/ ANNEALED GLASS & 0.090" . OTHERS
KURARAY  INTERLAYER NOTE: THE DESIGN OF THE SUPPORTING STRUCTURAL ELEMENTS SHALL
/ - BE THE RESPONSIBILITY OF THE PROFESSIONAL OF RECORD FOR THE
/_ \ BUILDING OR STRUCTURE AND IN ACCORDANCE WITH CURRENT BUILDING
) § CODES FOR THE LOADS LISTED ON THIS DRAWING.

COMPOSITE SNAP—IN BEAD ALL (4) SIDES OF PANEL

5/8" LAMINATED ——
GLASS BITE ALL
(4) SIDES

#10x1-1/2" HEX HEAD SELF—TAPPING
SCREWS INTO SNAP—IN BEAD AND ALUMINUM
FRAME. SCREWS NOT TO EXCEED 12" CENTERS

2x6 JAMB TO SUPPORTING STRUCTURE ATTACHMENT
(NOT TO BE USED FOR ATTACHMENT OF TRACK ANGLE TO 2x6 VERTICAL JAMBS OR SUPPORTING STRUCTURE)

MAXIMUM
ON—CENTER
DISTANCE  |STEEL
BETWEEN g WASHERS
INTERMEDIATE BOTTOM RAIL BUILDING TYPE FASTENER TYPE FASTENERS" |REQUIRED?
C—90 CONCRETE BLOCK ‘f x_1—1/4" EMBED CRETE—FLEX CONCRETE ANCHOR 7-3/4" YES
GLAZING DETAIL 3,350 PSI MIN. CONCRETE %" x 1—3/4" EMBED CRETE—FLEX CONCRETE ANCHOR 20-1/4" YES
INTERMEDIATE SECTION SHOWN 12.000 PSI MIN, CONCRETE |%” x 1—-3/4" EMBED TAPCON CONCRETE ANCHOR 14—-1/4" | YES
2,500 PS| MIN. CONCRETE |3/B" x 1—-3/4" EMBED ITW TRUBOLT WEDGE CONCRETE ANCHOR WITH SYP 0.55 SG 14" 1" 0.D.
WOOD_FRAME (SYP 0.55 SG)| %" x 1—1/2" EMBED LAG SCREW WITH 1-3/8" 0.D. WASHER 17" YES
14 GA MIN. STEEL JAMB %" —14 [TW BUILDEX TEKS SELF—DRILLING FASTENER 7-3/4" NO
12 GA MIN. STEEL JAMB %" —14 [TW BUILDEX TEKS SELF—DRILLING FASTENER 10-3/4"__|NO
1/8" MIN. STEEL JAMB %" —14 [TW_BUILDEX TEKS SELF—DRILLING FASTENER 12=-3/4" | NO

NOTE: FOR DOORS WITH CONTINUOUS OR REVERSE ANGLE TRACK, THESE
VALUES CAN BE USED TO DIRECTLY ATTACH THE TRACK ANGLE TO THE WALL.

* FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM ON—CENTER DISTANCE. HIGHEST ANCHOR INSTALLED
AT LEAST AS HIGH AS THE DOOR OPENING.
CLOPAY DOES NOT SUPPLY JAMB ATTACHMENT FASTENERS.

MINIMUM DISTANCE BETWEEN CENTER OF ANCHOR AND EDGE OF CONCRETE BLOCK: 2—1/2"", EXCLUDING STUCCO THICKNESS.

aw B5B5 Duke Boulevard CLOPAY WINDLOAD RATING

Mason, OH 45040 USA
& Clopay Tel. No. 513-770-4800 \/\/
CORPORATION  Fax No. 513-770-4853

DESCRIPTION: M/N 904 16’ WIDE +46/-52 PSF

DESIGN ENGINEER DRAWN BY: JDW DATE: 10/10/22| SCALE: DWG.
: . JDW . 10/10/22 2 SIZE

MARK WESTERFIELD, P.E. CHECKED BY DATE: 10/10/22[SHEET 2 OF 4

FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 DWG. NO.: 105609 VERSION: TDI

4 g e 2 :




«

BRAND MODEL SHEET! REVISIONS
CLOPAY | 904, 904U, AX, AXU 3 OF 4 [REV. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
IDEAL C4AL, C4ALU = == — - e SEE PAGE 1 FOR REVISION DETAILS
NOTE: HORIZONTAL TRACK
CONFIGURATION ABOVE THE DOOR
OPENING DOES NOT AFFECT THE WIND
2" TRACK CONFIGURATION LOAD RATING OF THIS DOOR. CENTER HANG HORIZONTAL TRACK HANG
REQUIRED FOR BY DOOR INSTALLER
DOORS OVER 12 /- (SEE PAGE 4 FOR
DOOR COUNTERBALANCE E'GF% éSEETA'TCgE DETAILS). JAMB CONFIGURATION
sl : )- Il [boor | DOORS WITH 2" TRACK.
HEIGHT | "L
13 GA GALV.( §T55L FLAG BRA}:KEI’ ATTACHED TO 5-6" 70°
JAMB WITH (3) 5/16" X 1-5/8" LAG SCREWS L T .
l AND TO TRACK WITH (2) 1/4" RIVETS. s gg- 1" DOOR OVERLAP (EACH SIDE)
= 8-0"] 88" 2x6 SYP WOOD JAMB. SEE OPTIONAL STOP MOULDING BY INSTALLER (TO SUIT).
I
o T 0 ] n.
& AS RQD: SPACING NTE 14" 0.C. g,_g, 133, JAMB PREPARATION NOTE SEE SHEET ONE FOR END STILE AND SECTION CONFIGURATION.
g 9'—6"[108” i .
" 10'=0"[112" :
[0}
8 L Siesn A 10671118 2-1/2" X 12 GA GALV. STEEL— | '?
" o T ST TTED I |
= 11'-6"[130" 7/16" 1.D. ROUND
) 12'-0"|136" 1-5/8" LAG SCREWS NOT TO PﬁSH NUT SEE SHEET ONE FOR CENTER
] 12—6"|142" EXCEED 14" ON—CENTER. FASTENER. HINGE CONFIGURATION.
g ST'YI'E.ELZ;I;A/CZK éR;gKg?s,GALV' ]i g" }éﬁ» 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END STILES W/(4) EACH #14x5/8"
Z ATTACHED TO JAMB WITH (1) 14 —0"|160" SHEET METAL SCREWS AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
g 5/16" X 1-5/8" LAG SCREW PER 14 —6"]166" 2" GALV. STEEL TRACK FASTENED TO
TRACK BRACKET. 15'—0"[172" 12 GA GALV STEEL TRACK BRACKETS .
15.—5" 1?8" WITH EITHER (2) 1/4" DIA. RIVETS OR 2" DIA. LONG STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE.
SR L sacton c-c
‘ LHR BRACKET (2-1/2" x 5-3/4" x 12GA)
PREPARATION OF JAMBS BY OTHERS. ATTACHED WITH (2) 1/4” x 3/4" SELF TAPPING
SCREWS. NOTE THAT LHR BRACKETS ARE ALSO
USED WITH "DOUBLE END STILE" AS SHOWN IN
NOTE: HORIZONTAL TRACK CONFIGURATION ZONE B-3 SHEET 1.
" ABOVE THE DOOR OPENING DOES NOT AFFECT
TRACK CONFIGURATIO
3 TRA ONFIGURATION THE WIND LOAD RATING OF THIS DOOR. JAMB CONFIGURATION DOUBLE_TRACK
CENTER HANG REQUIRED FOR DOORS DOORS WITH 3" TRACK 0 ROOM OPTIO
DOORS OVER 12" HIGH (SEE (AVAIL. FOR BOTH 2" AND 3" TRACK)
|/PAGE o DOUBLE HORIZONTAL
TRACK.
. v 1" DOOR OVERLAP (EACH SIDE) —
2%6 SYP WOOD JAMB. SEE STOP MOULDING BY DOOR INSTALLER (TO SUIT).
3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK "JAMB PREPARATION NOTE™. Seummmmmnmmmis; SEE SHEET ONE FOR END STILE AND SECTION CONFIGURATION.
THICKNESS: 0.101”. ANGLE THICKNESS: 0.080". HORIZONTAL TRACK
MIN. ANGLE DIMENSIONS 3—1/4" x 2—7/8". HANG BY DOOR . | ;
. TALLER (SEE PAG -
VERTICAL/HORIZONTAL TRACK 14" MAXIMUM SPACING TSF&';L%H&,,_S) 3-1/4" x 2-7/8" MIN. x 0.080" TAPERED ?
JUNCTION. TWO 1/4" BOLTS |—— FROM LAST MOUNTING ;
£ Ao N eTION ANGLE. SEE LAG BOLT MOUNTING AT TRACK |
-““8??‘\\ W a e TS TeR R T EREEREREE 7/16" 1.D SEE SHEET ONE FOR CENTER
SSEDDTEL T ROUND PUSH
’_a,-%& e |'! x f ASDITIONAL MBUNTING] SUGTS ROUND PUSH HINGE CONFIGURATION.
2 SPACED AT 12" CENTERS.
ZX: L *) 8 0.101" THICK 3" GALV. STEEL TRACK FASTENED 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END
ol AONR S SO, 5.3 g 7O TAPERED ANGLE. TRACK ATTACHED TO STILES W/(4) EACH #14x5/8" SHEET METAL SCREWS
% MARK WESTERFIELD % - -12" ON CENTER TAPERED ANGLE WITH ONE 1/4"x5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
g....._..........................:....; I " NUT AT EACH MOUNTING SLOT.
" 0 91 51 3 0z Q 46 "
R, S o 3" DIA. LONG STEM BALL BEARING STEEL ROLLER.
; Ir : B
5 34" NE. 1/4" TRACK BOLT AND NUT AT EACH PREPARATION OF JAMBS BY OTHERS,
e MOUNTING SLOT LOCATION.
o

DESIGN ENGINEER:
MARK WESTERFIELD, P.E.
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513

DOOR |VERTICAL . .
ONE 5/16" x 1-5/8" LAG SCREW SPACED AT
e T7R§CK LENCTH THE SAME DISTANCES AS THE TRACK BOLTS (LE.
A T 3-1/2", 10", 22", 34", 46", E1C.). ADDITIONAL
o o8 LAG SCREWS LOCATED AT 16", 28", & 40" FROM
o BT BOTTOM. TWO LAG SCREWS ALSO LOCATED
127-07 132" ABOVE VERTICAL/HORIZONTAL TRACK JUNCTION.
14'-0"] 156"
/ 16'—07 180"™

8585 Duke Boulevard

CLOPAY WINDLOAD RATING
& Clopay: 1, ¢ 0 Wie
CORPORATION  Fox No. 513-770-4853
DESCRIPTION: M/N 804 16" WIDE +46/-52 PSF
DRAWN BY: JDW DATE: 10/10/22| SCALE: DWG.
CHECKED BY: JDW DATE: 10/10/22|SHEET 3 OF 4 [SIZE
DWG. NO.: 105608 VERSION: TDI

4

+



SRAT o ALUMINUM _PROFILES. HARDWARE & TRACK PARTS | 5" GRS
CLOPAY | 904, S04U, AX, AXU : 4 OF 4 [REv. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
IDEAL | C4AL, C4ALU == = i == = SEE PAGE 1 FOR REVISION DETAILS
I 4.00 7-1/2° (2* LONG STEM)
’ 3-39/'4(3('2LDSNFEDRSTTESM1;EM) NYLON TIRE ¢2° TRACK> 2-11/16*
2125 — [{’= J STEEL TIRE ¢3° TRACK) I‘_ -
] | P fi 7/16° DIA, 1-13/16° DIA. <2* TRACK)
D rl_“_‘_r % 2125 [STEEL SHAFT 2-13/16* DIA. (3° TRACK)
= gj ftl == = = @
3 — I
= — 1/2° (2 ROLLER)
3812 ! I—a.eas—l i =L Aen ChRELER 281 DIA. (4)
450 o GENTER STILE _ . 1 HOWN 2-LEAF CENTER HINGE
(@] » @ K R ROLLER FOR 3" TRACK FOR DOORS OVER 800 LB. 14 GA. GALV. STEEL
© 105011 — .075" WALL - i OR OPTIONAL FOR DOORS LESS THAN 800 LB.
& 0 2-5/16" WIDE x 2—1(/2 TALL )
— N 12 GA. GALV. STEEL (0.097" THICK
o »
= ’“ﬁ T l | BOTTOM BRACKET g
o BOTTOM BRACKET
180%1385'1 & {,‘;2.. RVCK'LL il s C oo 3-1/8" WIDE x 6" TALL x 1-7/8" DEEP " (2
; O : 11 GA. GALV. STEEL (0.114” THICK) ’——‘
© L 1-5/8" (3" e
2125 < ROLLER CARRIER T ) 2nd TUBE FOR
n
S —8,135‘—‘*‘]00 #2 AND HIGHER
C £l INTER. TOP RAIL W/FIN e PINGES
: ~7/16" (3" 2-1/16" (2"
225 112 S| 105012 — .062" WALL 2-7/18" (3 L N
» —J
J- _l < Cr—3]_F0360 7-1/4" @
INTER. BOTTOM R R @
) AlL
JAIEE, SOTIOM AL, SOTION ASTRAGAL RETANER
| 5812 | = e o END ROLLER HINGE
_" (@ 5/16 DIA X 5/8 LG TRAC 3 24) GA/ g0.071/" M), SpLY. (STEEL
: : ACK (2" AND 3" 8) 1/4> x 3/4" SELF-
CARRIGGERBOIARS L 0.075" OR 0.083" GALV. STEEL (2") TAPPING SCREWS PER HINGE
2125
G ‘ P_RO Al ) i 0.101" GALV. STEEL (3") 3
5-3/8" LONG x 3—1/8" TALL x 2—3/4" WIDE
MAIN PART: 12 GA. GALV STEEL (0.099")
| ROLLER CARRIER: 13 GA. GALV STEEL (0.085")
L 6.500 J -\
P X :
B : [SEE_HANG DETAIL A—A | e
ik ik Iy > o
7 A A . J
% coumpne, || R INSSOSMY 0
UIR T T i
SN % /_ N e ||| ~ GaLV. STEEL PUNCHED OR o VARIES BY HEIGHT
SREOF T, / DOOR COUNTERBALANCE HiGH UNPUNCHED ANGLE IRON , T/ 10E P
L ""‘7!:.‘7@", %‘; SYSTEM oy (o et 3) MIN. 5/16" X 1-1/2" EMBED
£, 0 == : : s =R 1-1/4" X 1-1/4 DIAGONAL (KNEE) BRACE LAG SCREWS WITH WASHER -
— 7> L * ) % N HORIZONTAL TRACK REQUIRED FOR EACH NG P o
f**fo ) 233'2&"3& TRACK ATTACHED TO BACK HANGS QUIRED G (3) MIN. 1/4" x 1-3/4" EMBED 0ol A
4 MARK WESTERFIELD ; . (R(I?Z}(?)U(I:IEEJ)ERWFQNSZEIFSN6" 3/8" BOLT AND NUT AT CONCRETE ‘ANCHOR WITH WASHER N =
% 4 TRUSS HEAD BOLT AND NUT EACH ANGLE IRON NOTE: SCREW EMBEDMENT TO EXCLUDE 0.101 GALV. STEEL (12 GA)
JUNCTION STUCCO OR FALSE CEILINGS.
REnG DR 25 /I$'¢ACKHEDR T0 E/TESRTICAL TRACKS
STANDARD LIFT TRACK SHOWN.
COW HEADROOM, HIGH LIRT AND VERTICAL LIFT HANGS CAN BE MOVED TO MATCH CEILING STRUCTURE
TRACK ALSO AVAILABLE.
A ) m) 5 8585 Duke Boulevard CLOPAY WINDLDAD RATING
Mason, OH 45040 USA
= Glopay Tel. No. 513-770-4800 \/\/ 8
CORPORATION  Fax No. 513-770-4853
DESCRIPTION: M/N 904 16' WIDE +46/-52 PSF
DRAWN BY: JOW DATE: 10/10/22| SCALE: DWG.
BERiI%v’:STEEESé[\IDEEPRI; CHECKED BY: JOW DATE: 10/10/22|SHEET 4 OF 4 [SIZE
FLORIDA P.E. #48495 NC P.E. $#23832, TEXAS P.E. #91513 DWG. NO.: 105609 VERSION: TDI

4




